LEEKA ® Manufacturer of Locks

Hinges,Handles,
Latches,Gasketing

¢ ¢ Wwww.leeka.com.tw




I | BRAREEIRE

MS SIUACEAA[TITE Countersunk Screw M5

M5} FBLR A4 —

N\ 180°
5

| ¥ &
T I 1 "\\I_ i
A [T
sll 4 Ne 2
4 N~ /1T 1T—71T ' 1 =
i i —
i S |
UL | s o
r | I
r i E N
¢ 25 —
W 6;5 (——
" - 40 - A7

MR TSRS+

SUS material upon request or zinc alloy

MS SEERIETE  With Threaded Studs M5 geian

5 180°

I (1w
& | -G N E=:

—~ - N—T—

40
25
[

40

0y =, R AR AN AR, R R A T M R B R AN AT IS

Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

TRAHEIEER Screw-on Hinge 40x40

FEEEE Surface MSTEREEE Countersunk Screw M5 M5#EH#BE: With Threaded Studs MS

Z &Y Black Powder Coated B-226-3 B-226-3A

FLi& Bright Chrome B-226-3C B-226-3AC
TatAREL E304 SUS304 BS-226-3

TR EA©304 SUS304 BS-226-3B

eSS 7304 SUS304 BS-226-3C y

B-001 Hinges i



IRBEERE |

M6 STIISIE#5EITS  Countersunk Screw M6

M6 [BEER &

50

!

50

1

ME RIS T fIE &<

SUS material upon request or zinc alloy

M6 SZERIZH With Threaded Studs M6

30

50

50

0)

50

i 7 <, AT I S0 RO AN RS, RIE AR R TS R B R SR A N B AR o R

Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

FHEER Surface

BB & Screw-on Hinge 50x50

MG TS £ Bl E Countersunk Screw Mé

2 &4 Black Powder Coated

F3£% Bright Chrome
T ERiAihRL E304 SUS304

T EmEa30d SUS304
FEgM S iyE 304 SUS304

B-226-2
B-226-2C
BS-226-2
BS-226-2B
BS-226-2C

12

S

N—]

M&ERHREEEE With Threaded Studs M6

B-226-2A
B-226-2AC




I | BRAREEIRE

M8 ITEERAREE Countersunk Screw M8

15
.8
T e—
Mg ERIR
1 L . \\
I
o= ‘ | ﬂ - — -
t o0
- 1T 11— 1
2 i
3
@8a ‘ A} Y
T4 ] | \I
¢365 |
4!/ |
60
HEAWMETHENFSE
SUS material upon request or zinc alloy
M8 FEHREEHE With Threaded Studs M8
, —
I /
] ! [
- | & ==
[ I |
[
I 1 i1 s
—
] i ]
| =
- =
T _tﬁ
36
60 15 14

Ha &, TR, R AR E M E G EEA B IES R, B R M2 56
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request

IRHEE LB Screw-on Hinge 60x60

FRELIE Surface M8;TIEAR 44 E ECountersunk Screw M8 MBEEHRIZ R With Threaded Studs M8
=% Black Powder Coated B-226-1 B-226-1A

%% Bright Chrome B-226-1C B-226-1AC

FHinEL 304 SUS304 BS-226-1

FERHIELE 2 £ 304 SUS304 BS-226-1B

FERMMSEIH304 SUSI04 BS-226-1C y

B-003 Hinges



IR E E BHE, FTIR R | I

[REW

4-©18.3 4-28.3

I T

T | 74
|
T
1

@

60
36

&

w
D

15
0 N2
8.
AEEIRRight
i R 2 R

A-M8ITEEER Ak /

Countersunk Screw M8

i fFa S 250 R 1304
Hinge:Zinc Alloy,Pin:SUS304

MME Black Textured Powder Coated

Version A(Left) AR (FE48) B-226-600L-20
Version B (Right) BE (#5¢&) B-226-600R-20 y




- B-226-400 B-226-500 | | | IRAHEE SRS, FTIRE

- I
X 5
4-@11.5 4-25.3
o
> —~ 180
/ Bt
i
. _|_ 5 B
-
u AN
S s | & = TN
4-M5;TIEBNE 44
Countersunk Screw M5 \—/
e
=
Ty
.~
25
40
ity e I R iR IT304
Hinge:Zinc Alloy,Pin:SUS304
MEE Black Textured Powder Coated
Eit B Left Version AlLeft) AR (%) B-226-400L-20
FEEiEE 7 Mk Version B (Right) BE! (55i8) B-226-400R-20 |
115

4-@6.4 4-©13.5 ¢ | 6
N o 180°

. —\
_!__
I ]
- N\
= = ree— B 4-MG TR K
Countersunk Screw M6
N/
1 11
oy
L/
30
50
A s e #H T T AREE304
Hinge:Zinc Alloy,Pin:5US304
WE R Black Textured Powder Coated
EaEE R Left Version A(Left) AR (%) B-226-500L-20

Version B (Right) BE (&) B-226-500R-20 ‘

ARz AR

B-003-2 4 Hinges i




IRAHEIEIREE | | B-226-4A-1 B-2101

50
18 . 45

15
!
A
CS—
-
H
14

PIEE

FE S AR A SR AL, RO R I O (R B E A RS ig, A TT O i B T e
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request

SRIHETESR Screw-on Hinge 60x90

FEEE Surface MBHEHZFE With Threaded Studs M8
[ 2 Black Textured Powder Coated B-226-4A-1
=38 Bright Chrome B-226-4A-1C y
120
45 a5

|
41— i .
A
G
[ N .Y E
J L @ J

FET MR, RE R R e EET RERE ME MR T i
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
5US material upon request

FERE Surface M8+ With Threaded Studs M8
FFE2Z Black Textured Powder Coated B-2101-61201-20
5348 Bright Chrome B-2101-61201-30 ‘




I | BRARE TR

M6 JIE0EE4IElE Countersunk Screw M6

50
30

&6.3%90°

Tn I, D H
Vs NI 72 PanWL
©)

11.5 (1

RIS i

SUS material upon request

76

50
30

|
|
[
I
I
1 R i OV A
I
i
t
T
I

56

12
¢ R—— B
h—1
——\ "
=
L]
——1

\

1.5

1
-
4

PR, T R M A RS, R T AR IR I R B T e A e I R0

Zinc die, S5US pin and threaded studs, Black powder coated or bright chrome

RAHREIE 2 Screw-on Hinge 50x76

FREREIE Surface M6 IR E ECountersunk Screw M6 MéZHB R With Threaded Studs Mé
2t F# Black Powder Coated B-226-6 B-226-6A
=58 Bright Chrome B-226-6C B-226-6AC

RAIFEI04 SUS3I04 BS-226-6 A




IRAAEESRSE | | B-226-4-2

50,0 1.5
- i 180°
6.0

300

{,
o
&
N
90°
-1
[
4-M6i | ”
T T

o
&
& o
o o
B E —] © _/_@___
= 1} \_l./:I
o
— DAY T
@ | @ 2 jﬂ
! . : g
4-M63 (B2 AR e —
12.0
115
50.0 6.0 %
= ] 180°
30.0 e—
I |~
I :
| W ] i
2 : =
o ~ | o
a 1 T e . U
1
] | Q=
(V]
|-|1 7 |
& | o =
<
(E— —
12.0

T, AN AN RS, R TEN TR A S F a d R
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

REXE BN Screw-on Hinge 50x63

FREEIR Surface M63TIE 2 44 £ E Countersunk Screw Mé MéEEIRIREE With Threaded Studs M6

ZE & FE Black Powder Coated B-226-4-2 B-226-4-2A

T25% Bright Chrome B-226-4-2C B-226-4-2AC
FHH316 SUS316 BS-226-4-2 V|

L B Hinges il B-006




- B-2101 B-209 | | IBaEERE

Hinges %

M6 ILTENREA TIE  Countersunk Screw M6

76 56
28 28 18 18

()
&
&
AR
e
i
@G.GXIQO“

7
&
o wl - ‘ R o W
w (! T W m
1 I 1 | ' ' |
SRR 9 &
: i -~ 'N4-@6.6X90 ° . ,
@" o @" [
T 4 T T + N L,
ﬂ oo Foaihs |/© S ﬂ 0| /_!T!\ |r/@ /—!V—!W
15 15
76 76

o e o T R i), = T E I S B M E = F | B s = EE - M TPl il 2= 8 17
Zinc die, M.S.zinc plated or SUS pin, Black powder coated or bright chrome,
SUS material upon request.

SREAEIEEEE Screw-on Hings 60x76

EMAEZE Surface 413 M&TEIHEEEFL 4Countersunk Screw hole M& 4618 Mé TTEIERF 6 Countersunk Screw hole Mé
B &L Black Powder Coated B-2101-6764-10 B-2101-6766-10
F5$% Bright Chrome B-2101-6764-30 B-2101-6766-30 ‘
! ! s .
40 : : 4-M6 SEHRIE
20 o
a
7. o :
o0 o~ | \"/ | — - By
—
|
20 |
40 40
26
| g
% %]
] @] L 4211.2
| : I
) n
o 3 e e
| J |
S

T I T
M6 LI T E
Countersunk Screw M6

T, T A S N AL B A, R M E L Bl M T e = 2E
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request.

RSB E R Screw-on Hinge

EMEE Surface Mé&:TIEEIR 447, 4Countersunk Screw Mé | M6 E#EHE With Threaded Studs Mé
Bt Black Powder Coated B-209-1 B-209-1A
£5¢5 Bright Chrome B-209-2 B-209-2A y




IRBEERE | NGE

M6 ILUETE#A EE Countersunk Screw M6
50 12
30 6
B 4

= 4 1 ol W *@.w
22 s P 235

0 g
8 )
50
50 145 12
6 30 180 ©

- | Bue)
/Msxa IERIET \P?d‘

FEEE, Tl R E RO R E O EAEMTEE S M P Al A il
Zinc die, SUS pin, Black powder coated or bright chrome,
SUS material upon request.

IEER Surfddé MEERMHEE Ck\untersunk Screw M6 M6 EiRHE Wiqh Threaded Studs M6

L EIEE Black Powder Coated B-218-2 B-218-1
2514 Bright Chrome B-218-2C B-218-1C A

LR B W Hinges ‘il




I | BRAREEIRE

50 50
4- M5
og )

50
15

L TN |

o S o rm =

i = | T @

e B e

HJLLi ]
# g = A % ams/  REAREL
180"1:1

7 With thread holes
With thread studs 180

TFE e T E AT, ATMEM RO S BT ERE

Zine die, SUS pin and threaded studs, Black powder coated or bright chrome.

| ESUREET With threaded studs | H#51S#4FLEY With threaded hole
AZL(FdE) Version A (Left) B-2106-501-L20 B-2106-500-L10
BEL(FH%E) Version B (Right) B-2106-501-R20 B-2106-500-R10 ‘

~ B-226-5A B-226-TA | | BAEERE

?0

B-226-5A

B-226-7A

B-226-5A
41 36 14.5_
1 1
i oLl o “l: I¥
7] % . il _@_ @l w
H olll & | ik » ?14 2
amE o 18
L $ {_‘B_ q— L

FES FRIPR TR, Rk PR e
Zine die, SUS pin , Black powder coated.

U244 EEFLEY Screw-on Hinge B-226-5A ‘

B-226-7A

TR A AR AL, AR EEE

Zine die, SUS pin , Black powder coated.

244 S8 Screw-on Hinge B-226-7A ‘




B-2107 B-2712

IRREERE | INGE

AIZfR
Clamping pin |

1
. = 7 !
| s I
! ? |PA washer !
o wy d/a_ % un £
= | T £ i }i‘ L Door
Il 9 il
| [i8) _L
| | 6 | TR
135 . Panel Cutout
=]
B-2107
_/

Tre s, MR, T, PAZE S RH A
Zinc die, black textured powder coated, SUS pin, PA clamping pin

’

EEH Left side B-2107-L
H4E Right side B-2107-R A
O Large Size 198
57 :
| 38 | - 5.2 % 3
b —T - _% T
UL FPT B ¥ | ¥
3 —|»————— I r-h: - < F]
w ; 1} W;g‘ﬂi?i Door
1 | B 1 "-“ orframe
B The A e | o
PR AR
Adjustment screw
/\TE Small Size
36.5 36.5 B-272-2
i i | i "‘erq 12.5 12.5
6
ere [qers »
w . wn
27 @@L %, <8 @@Ll = | 9
':"| J 33 n Fi
Hel| @ e[| & o A P
Tleoss  3/1ls s/ T2 b | 4
v/ 12.7
AfLE EeYRY==E{RiH RAFLR T

Panel Cutout

Round screw hole Hex 4mm screw hole

SEHE 7 2B o D MR R AL AR (PC), IR AT RN

Hinge Leaves:POM,Pin:Polycarbonate,Adjustment screw & nut:Stainless steel

B-272

2= Black | FLEE White
EFLE rAATLE EIFLEY A FLE
A8 Large Size B-272-2 B-272-2-BS B-272-2-WR B-272-2-WS
/B smaill Size B-272 B-272-BS B-272-WR B-272-Ws ‘




B-2105 B-2104 | | 4844 E 2 FE B R ir8%sE

81, 52
— 50
| Lo
| -M5 — m\
17.8 [
|
] =t ™ | I "I 1~
| m |
—1
— _..--’-/
 S—
91 |
ZIimEMTREE
Nylon Black hinge leaves & covers,acetal black hinge pin insert
B a§gEh Free swing | B-2105-0-90
SENIRIE 80°E(T 115°FEfir 150°Efi
Positioning Torque N.M Detented open angle: 80 Detented open angle: 115  Detented open angle: 150
0.7 B-2105-08007-90 B-2105-11507-90 B-2105-15007-90
1.1 B-2105-08011-90 B-2105-11511-90 B-2105-15011-90
17 B-2105-08017-90 B-2105-11517-90 B-2105-15017-90

o 254402
FS.Q}JL—_FL P4.5+0.1 12.7+0.2
J
=
H
oo
2 Z
FEFLR~T
b Panel Cutout
497
1 o . -
? — _l__ ______ (EI (FONE SIGNGE 5 Y
™ : 3
o] w i i
+
T FF— = ar +
<
S . H
¥ LSl.SiO.Z _‘

ZimEERER

Nylon Black hinge leaves & covers,acetal black hinge pin insert

SA5E Item NO. [ IFENFSFE Detent Angle | SEfrRSE Positioning Torque N.M

B RED (FE1EE)
B-2104-0-90 Free swinging(no detents) -

B-2104-5-90 1.1N.M




RAAEE SR 0

B-2113 B-2115 B-2116

AERREA TR
Rivet on or screw-on J
—® -
1 nl e~
| ) R|@
1 \ ﬁ
h,
{o.
"J'qj 30.7
Il uwy
(=1
inl

o 4
I hpA+GFELHE, FE T iHaNER

Hinge Polymide GF 30% black, M.5. zinc plated pin

—
=
1
18

66.5
5
|
|

66.5
51
|

1

f
(@
A\;,
&)
.5

L& (Fi=) Version L{Left)

Rzt (EH4E) version R(Right)
B-2115-76604-L

B-2115-76604-R

FEOT R S EE R I T ARER A T RN EIM R A | B L

zinc die,M.S.plated or sus pin,black powder coated or bright chrome

IR4K[E FEE8E Screw-on Hinge 60x70

FEED surface T Left

Z&51 Black Smooth Powder Coated B-2115-76604-10L

## Right

B-2115-76604-10R
524% Bright Chrome

B-2115-76604-30L B-2115-76604-30R ‘

40.7 915
b @ b
[ 1 [
L
%
|-.J~
=5 7J.:ew 45
\3{/ |
43 1O 1S — &)
]
6“ et
3/
10 19.3
476
EMPA+GFELHE, “F o M54 H
Hinge Polymide GF 30% black, M.S. zinc plated pin
R4 ETEFEE Screw-on Hinge B-2116-01-90

L2 B

Hinges f&ii




- B-2118 B-2118-2 |

| RAEEFEE X E

RISLR
Panel cutout
/S s/ T ISR MO TaGE 26;

=i IS IS | 2500020 0

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR> Black;

=90 1F 180°
REVERSE FORWARED
1-@5.2°¢"
45492
4-96%

CYCLE LIFE:Within 25,000 cycles static torque stay Within £20% of torque specifcaton.

HFEHENM Symmetric Nm

HHEN.M i ZBlack Texiured Powder Coated 78 Natural

HmiiEEh Free Operating B-2118-100-20 B-2118-100-11

1.2 B-2118-112-20 B-2118-112-11

1.8 B-2118-118-20 B-2118-118-11

2.3 B-2118-123-20 B-2118-123-11

34 B-2118-134-20 B-2118-134-11

45 B-2118-145-20 B-2118-145-11 ‘

38 oo
17.8+0.2 F 180° & 50°
FORWARED |4 ~ REVERSE V V.

-

2840.2

0%

. 3:0.2

4-@5,2,/ 17.8+0.2

28+0.2

RI3LA o

Panel cutout

B/l O S ME R T S5 26

S BEREEER 20000

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR’ Black;

CYCLE LIFE:Within 20,000 cycles static torque stay Within £+20% of torque specifcaton.

HFEIIFEN.M Symmetric Nm

Hinges %

$H5EN.M FfEEBlack Textured Powder Coated SH Y2 Black smooth powder coated
B HB1ED) Free Operating B-2118-200-20 B-2118-200-10
0.9 B-2118-209-20 B-2118-209-10
1.4 B-2118-214-20 B-2118-214-10
1.8 B-2118-218-20 B-2118-218-10
23 B-2118-223-20 B-2118-223-10



IRk EEHERE | | B-209-1R B-209-2R

RLI

53.5 ' . 3802 46
38 A
= 90° 1F 180°
. . REVERSE FORWARED
[as] ™~
s 1. ) e ?
o | [ &
— = T o
B W ™~
K=1—1} ¢
AN
! '

1 7 1 1 1 1
12,585 i“‘l BIsLRY

Panel cutout

B-209-1R (¥24E=Y)

fn/FrEdE/EALA (e oM a T IR B ERET 1SUS304 0 A5 fhe

&5 S an B U SN EIE 1 2500030

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR®Black; Stud:5US304,Natural.
CYCLE LIFE:Within 25,000 cycles static torque stay Within +20% of torque specifcaton.

HFE N.M ] HFHEE N.M Symmetric N.M
FHIREEE! With thread studs I RiTE Black Textured Powder Coated
12 B-209-1R-12
18 B-209-1R-18
23 B-209-1R-23
34 B-209-1R-34
45 B-209-1R-45 y

53.5 | m
g B8 =
. [ 90° = 180°
REVERSE FORWARED
N A g
m)
| ot | 2y
++--—+r—-—- -+ S
m) I ] {E
| % o i~
- + e - + - —— L .
I B-209-2R (IFL=Y)
: ! | - | 1
14.2. v e
FILRY

Panel cutout

B/ A/ T UM AR ML= TSI RN

=40 LR N SBIHR 1 25000k ©

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR’Black; Natural.
CYCLE LIFE:Within 25,000 cycles static torque stay Within £20% of torgue specifcaton.

$R4E N.M | HFEHE N.M Symmetric N.M
#HI2E8H, FWith thread hole | WIEIZE Black Textured Powder Coated
12 B-209-2R-12
18 B-209-2R-18
2.3 B-209-2R-23
34 B-209-2R-34
45 B-209-2R-45 ‘

LR X 2 Hinges il




B-2338 | | IBA4E A $RhE

m 5. 45 185 905&

I
e (@' o o
o
I = )
N 5 i
fan N pan) o K=
& N \
|- 50 | L1
60
50%0.1
I
|

T

| 45+0.1 |

| 1

mFLR
Panel cutout
e =R BT Rl T HimH e
Zinc screw-in torque hinge.SUS pin N.m Symmetric N.m
1B5E N.M | i 3®E Black Textured Powder Coated | R Gray
B %3 Free Operating B-2338-6000-20 B-2338-6000-22
1. S BT SR 1 250002 1.36 B-2338-6136-20 B-2338-6136-22
1. CYCLE LIFE :Within 25,000 cycies static 2.26 B-2338-6226-20 B-2338-6226-22
torque stay
Within+20% of torque specifcaton 3.16 B-2338-6316-20 B-2338-6316-22
4.07 B-2338-6407-20 B-2338-6407-22 ‘

- B-213% I | 4RAREEFEFE 8 EE

X
M= : & S

56 REVERSE FORWARED
36 8
— ]
@% = - @18

54
355

{

|

|

|

|

|

|

|
vl

+

[

=

=N
4-810.2

=

tn

PA6+30%GF 2™, b

) PA6+30%GF Black,bearing steel
1.3/ 3 eeEET e A

FHOFF 5157 +20% TE % N.m Asymmetric N.m

2. 5P R SR 2000040 G N.m % FHHE N.m ———
Forward Torque N.m Reverse Torque N.m = ac

1. Technical requirements:

1.Within 20% of torque specifcaton; 23 0.3 B-2135-6023F-90

2.Within 20,000 cycies static torque stay; 03 23 B-2135-6003R-90‘




IR EERERE | NGE

X

M5;iEEIR44EE Countersunk Screw M5

L

5 90° 1E 180°
40 REVERSE ~ FORWARED

4-©9.5 4-053

40

M5 $ZEHRIZTE With Threaded studs M5

SFE e el R an HIERD

Zinc screw-in torque hinge.SUS pin  N.m Symmetric N.m

I FREI# Black Texured Power Coated

BEN M5 TSR AAEE M5 iRt
<M Coutersunk Screw M5 With Threaded Studs M5
EHIES) Free Operating B-226-3R B-226-3AR
0.9 B-226-3R-09 B-226-3AR-09
1. SFrpm G A TiE D 250002
14 B-266-3R-14 B-266-3AR- 14 S #
1. CYCLE LIFE :Within 25,000 cycies static
1.8 B-226-3R-18 B-226-3AR-18 torque stay
23 B-224-3R-23 B-226-3AR-23 ‘ Withint20% of torque specifcaton

LR R Hinges &l b-o1s




- B-226-2R B-226-1R | | | BHEEE R

MEIIEREAREIE Countersunk Screw M6 g,

& 80° iE 1807
30 REVERSE FORWARED
; 30 15

o

MEIERRERE WithThreaded Studs M6

e

Sy PE s S R Eupisbiivas] 412

Zinc screw-in torque hinge.SUS pin  N.m Symmetric N.m

| M ZE Black Texured Power Coated

'
L

15 N.m M6 JIFRBLAEE M6 SEERIREE
- Coutersunk Screw M6 With Threaded Studs M6
B Hi8E) Free Operating B-226-2R B-226-2AR
1.8 B-226-2R-18 B-226-2AR-18
23 B-266-2R-23 B-266-2AR-23
34 B-226-2R-34 B-226-2AR-34 ‘
M8TERIRAARIE Countersunk Screw M8 Eﬁgoq o
60 REVERSE FORWARLCD
36 17

e R S EliHh IiEE

Zinc screw-in torque hinge.SUS pin  N.m Symmetric N.m

fnE 2 Black Texured Power Coated

mE N M8 TEREAEE M8 SEHRIERE
A Coutersunk Screw M8 With Threaded Studs M8
1. Frpar e A RIEE 1 250000 EI4#H) Free Operating B-226-1R B-226-1AR
1. CYCLE LIFE :Within 25,000 cycies static
torque stay 1.36 B-226-1R-13.6 B-226-1AR-13.6
Within220% of torque specifcaton 2.96 B-226-1R-22.6 B-226-1AR-22.6
3.16 B-226-1R-31.6 B-226-1AR-31.6

4.07 B-226-1R-40.7 B-226-1AR-40.7 ‘




IRMEEEERE |

X

80 4.5
46402
46
i e & & e L L
=y _G)_ i =) D
Reverse Torque
T N
Bl ol w0 b0 Erersy Y ol e o
38 Y—fp——— = 5} #
b | P s}
= S—— R _6_’ A
Fant ¥ Atk
&“:J Forward Torque
:44,36.5 46+0.2 4P67'Y
46
FFLR

Paneal Cutout

SFE R AR YR EHEH B AR,

Hinge:Zinc Alloy,Black smooth powder coated; Pin:Bearing Steel;

HF A Nom Symmetric N.m

BEER HBHE
Black powder Coated Symmetric
B-2119-A-23-10 23
B-2119-A-39-10 3.9
B-2119-A-57-10 57
B-2119-A-73-10 7.3
B-2119-A-90-10 9.0 A

THTEHAE N.m Asymmetric N.m

BaFR (AR RMARIE
Black powder Coated Forward Torque Reverse Torque
B-2119-A-2317F-10 23 1.7
B-2119-A-3930F-10 39 3.0
B-2119-A-5740F-10 5.7 4.0
B-2119-A-7354F-10 7.3 54
B-2119-A-9067F-10 9.0 6.7
B-2119-A-1078F-10 10.7 7.8
B-2119-A-1290F-10 12.4 9.0
B-2119-A-2317R-10 1.7 23
B-2119-A-3930R-10 30 39 1. F;rp G R IE ] 120,000, AT
B-2119-A-5740R-10 40 5.7 i e e
B-2119-A-7354R-10 54 7.3 1. Cycle live:Within 20,000 cycies static
B-2119-A-9067R-10 6.7 9.0 torque StayWithin 20% of torque specifcaton.
B-2119-A-1078R-10 7.8 10.7
B-2119-A-1290R-10 9.0 2s 4




B-2327 BS-2061 | | shaEixse

laN
2
Il
Iy 11
glgl | iti] gl g

D
‘{\-,_‘7

MBS B > MSITT TR

12.0
=] L = o
o Lol o~
=Y | e
| o THERIEEEE
P © ] T o
= o — 1 e wy
IS S | Pt
T Lu_ &
>12 ——1
=12
133 198!
O SR Rt I PARTS
Hinge zinc die, m.s.zinc plated pin, PA boushing
BE Highly ] TER Black Textured Powder Coated I Z52& Bright Chrome
138 B-2327-13-20 B-2327-13-30
198 B-2327-19-20 B-2327-19-30 A
47.1
& )
™
o0
™
10 0
~0
m oAy 8
\S=2 N8z =
™ 571.5 ‘ 3.5
o }
o
100
~
= SR EET
without cover ; n g
FFii0304, 5 T

Stainless Steel 304,Bright polishing

WEEETEE External Hinge

s Bright polishing BS-2061 ‘




IRAAE ESRHE | BS-5075 BS-5065 BS-3831

BS-5075-1 BS-5075-2
50
s 50
6-05.4
£08a, |
\-® | &
[
o~
® B8 R
[
o™
‘ BS-5075-1
<P D -
09 @55 @9 055

g 304, T ShiF &
Stainless Steel 304,Vibration Grind

R EEEE Screw-on Hinge

FMmERE Surface #agasI) With hole FEBL4FL Without hole
{REIFEE Vibration Grind BS-5075-1 BS-5075-2 ‘ BS-5075-2
& @53
2 /—
1 (
o & -@/-—
@2 -
g L L [ JpF
@5 : - 2
- B B -
[ 5 23 23
45
& i BS-5065-1
TzAeE304, T ShH) A
Stainless Steel 304,Vibration Grind
WREFEE S Screw-on Hinge
{ESNE Vibration Grind BS-5065- 1 y
NEW { 8
~-0.90 2540 4@al

&

BS-3831
T #3304, IREN B
Stainless Steel 304 Vibration Grind

R EITEERSE Screw-on Hinge
RENETE Vibratlon Grind BS-3831 ‘




B-265 | | IBEE SR

64.2
p N o
Large size
J\ 6-D6.60
(DT ] q
|
- |
24 24
A EPARMAE TE IR i, SR T HE I Eh

Screw-on hinge polyamide GF black,pin M.S.zinc plated
B E TS Screw-on Hinge
M6 TiERRELEIE Countersunk Screw Mé
PA BHIEE B-265-1 A

s\ 50
Small size 31.5

‘ | 4 @55

30

50.2

18

10

E BB PARRAA [T T $50 8, B8 S HE SH I
Screw-on hinge polyamide GF black,pin M.S.zinc plated

YRAHEEETE Screw-on Hinge
M5 ;SRR ETEIE Countersunk Screw M5
PA BHIZEE B-265-2 ‘

B-021 Hinges %




IRAEEIRSE | | BS-200

W
Pl
BS-200-1
g &
i h
@ @& | -
o
o
i W B-200-2
s
£
BS-200-3
SR RR TR Sk T Wt L R S R E
; The middle gap between knuckle and knuckle
$ﬁﬁ§ﬂ 316‘@@#&5’: is perfectly close;Meticulous appearance
Stainless Steel 316~Bright polishing Both sides of pin are fully covered by leaf.

MODEL NO. | @D | i
8 6 BS-200-4
BS-200-2 8 16 75 75 50 40 6 Mé 70
BS-200-3 6 14 65 65 40 35 5 M5 50
BS-200-4 6 14 50 50 35 20 5 M5 40 ‘

unit:m/m




B-226-1-PEEK B-2531 B-2536 B-2541 B-3030 | | IBRAREERE

60

|
'I_._ |
|

- ]

8 | 18 |

g8

60

36
//&\
O)
4

L 16

B-226-1-PEEK

FEHRESHNHRE THEAEESESEEENE
Ilight-strenglh bushing,so that no metallic parlicles due to wear are produced.

$EEESRTE CLEAN HINGES

BEZEZE Black Powder Coated B-226-1-PEEK

ERE

55

B-3030-B 4-Mé

OHO

1° o—
- 2 O
OHO | -
N
Aluminum Alloy
= IREMETEERE  Screw-on Hinge

FRERE Surface
B-3030-G Al B EEEERBR Black Powder Coated BB S8/ Anodize Finish-Silver
51 |25 B-2531-B B-2531-G
36 | 25 B-2536-B B-2536-G
a1 25 B-2541-B B-2541-G

30 30 B-3030-B B-3030-G ‘




IRAAEIEIRE | I B-4748

Fé.é
e ZA N 7y Il K
48
32
4-Mé
~
N O I I .'
=™
| = = I
pp
Figiane

Aluminum Alloy

R SEEREE Screw-on Hinge

REAMWE  Surface
EEEWRM  Black Powder Coated B-4748-B
[BiEZ&FEE  Anodize Finish-Silver B-4748-G ‘

ajifiaE | BD-3119-B1 BD-3119-BR

BD-3119-B-L

15

el @ |

I
1
1 w
l |
T

BD-3119-B-R

EE

Aluminum Alloy

FmHEE SEZEREE Black Power Coated

ARY (A5E) Version AlLeft) 85 (558E) Version B(Right)
BD-3119-B-L BD-3119-B-R ‘




B-208-1

B-208-2

B-208-3

SR R i S E R
Can be customizd to Anodize Finish-Silver

B-025 Hinges &l

I | REAEE X

P1

P2
B

Er= ~ERIEREZRE

Aluminum alloy, Black powder coated

Itern NO. |

B-208-1 70 75 10 19.5 10.5 6.5 18 47 54.5 Mé
B-208-2 70 50 10 195 10.5 65 18 & 47 30 Mé
B-208-3 40 50 6.5 135 9 55 13 26 30 Mﬁ‘




AifFixeE | | I

1]

11
| 4.6 - - 4.6)

N an )
| [T oS ||
| @ o 1
n Mo X S o
£ - |—L 3 o
n,-hhb' = | | | @ o~ @ | ‘ | Dl 4‘45"4
[=}
H] | F Lo 1%y

4.7

I<.! .-'- !w . . (} --.i. EL B-203-5

0.8
—J
=

—J
)
—

i —
0.8

180° 0

TR Left HHE Right
Hes RmMaths]
Zinc die, black powder coated B-203-4

ARI(ZHE) Version A(Left) | BEY(5HE) Version B(Right)
B-203-4 B-203-5 ‘
175 Pﬂé__l
I ]

—
B-203-1

51

63

63

51
PR P
. el

I

:q

17.5
17.5

@ B-203-1C

(0]
180°

o~

20 .
H
II<

T

—
—

15 15 n [I 1I5 LIF 1I5

FHEER Left T A Right

s REAHSOSERNTERS

Zinc die, Black powder coated or bright chrome
EEEE L2
Black powder coated Bright Chrome
Version A(Left) ABI(E%) B-203-1 B-203-1C §.203-2
Verslon B(RIight) BE! (%) B-203-2 B-203-2C y




B-203 B-2201 |

| FIiFeRiE

B Rl AR ET | BE RS

Zinc die,Black powder coated or bright chrome

EoEi

Black powder coated

B-203-3

31 31 145
{/('.} 10 [ ————— 1
A | »
fj ! Ké‘\‘ b el sy Tl R L — D-ﬂ
ZEE 4 N B
1 : | : [
19 12.8 19 ! E|§) |
6238 E—=
15

sath
Bright Chrome

B-203-3C

19

0 ©

— %

S[_Jolo|

4-(10-32UNF)/

e RERECEEMTEES
Zinc die,Black powder coated or bright chrome

TS R,
Install Style Coated Tapped Hole
IEEETE Front-mount Hing 7L Thru hole
BEHEREE M5X0.8
Concealed-mount Hinge 10-32

T
Bright Chrome

EEEER
Black Powder
B-2201-572-20
B-2201-570-220
B-2201-570-120

B-2201-572-30
B-2201-570-230
B-2201-570-130 ‘




BIiRERSE | | B-207 B-2206

23

/
1]
o (=]
o o0
Nk L/f
oAl
1 1e | -
= K/
=
2
<
6
u,_[ 1w TRTE
=t b
L) 1 —i
11.5 | 115

F R BRI HE TR

Zinc die, Bright chrome plated, Black powder coated

PR#E Bright Chrome | S Black powder coated
B-207-1 B-207-2 ‘

12 26.5

30
2-M5

Lep- 4

4=

A
3

90

10 | 10
90

3
11.5
|
I
| L
¢ L]
|

[18-23.5

0.5

FEE <&, IEREIEE R SO0 M, R E T S R R ET 8
Zinc die, Black powder coated or bright chrome,M.S. zinc plated or SUS pin.

EZE Black Textured Powder Coated | =§E Bright Chrome
B-2206-20 B-2206-30




B-2208 | | | | EriFEkiE

ECRIPE

o 2
isits- Sy i B T Depends on panel Ts
Washer
~
I T
-
2 L
el =
/PA washer
3 o .
o A
& | @
R5.7
=
2 -
7, BRI T SR AT D | SR AT L A A B TR
Zinc die, Black powder coated or bright chrome,M.S. zinc plated or SUS pin.
&% Black Textured Powder Coated | 525 Bright Chrome
B-2208-20 B-2208-30 ‘
M5X15
g e _" gﬁ;ﬂﬁéﬁﬂ@ I
Eh I epe nds on panel Ts
3 Serrated % .
washer é i
: f@} = =
7 o
. 3 i b
g g A
o |
4]
R I | - ;j___ﬁ.
b FIPES s
=] uy 0 Attention:
Screw M5X8 should
_ not contact the pin
R5.7
1
m —
— |

FELPA GF30%, =R HEHFE 4 AR EE EHOH
Black PA GF30% body, untreated steel fully molded-in, stainless steel pin

Hinges %




EIIREREE | | B-2210 BS-204-3

2 m .——'
o~
1T
I | —
o Q
- @
£
o
™~
20.0
19.0
T o
3 WH ;
[Fp]
—
A SR HE SN FE R
Stainless steel or M.S.zinc plated
B Version | EEL Length | s Stainless Steel |  WeFM Steel
=Hfi Three Joints L=57.0 B-2210-570-304 B-2210-570-01 ‘
It
o
o
P 16
1
i :\
D e Yo
[ 0|
% |/ 9 T
D —
; T | '
n
|, 55— |
&
; .
0] 1
TR S

Stainless steel, Bright polishing

y sz 4




BS-3865 BS-2205 | | EiReRsE

BS-3865-1R it BS-3865-2L A%
45

45

31.9 30.1

31.2
3.9 30.1
65
45 n @10
. %
B5-3865-3R B5-3865-4L
éb
30 *
—-ﬂ-—ﬁ | l 319 30.1 ;g Jg
@B @ 319 . S + -I
s S |52 =
5 R
b il ® @— i)
= [
g 0.1

N Ed
]{

DEROT

TERE 304 B BAT EE
Stainless Steel 304, Shaking bright polishing

HEEEH Weld on version | R44ETE Screw on version
i Lett i Right HHE Left i Right
BS-3865-1R BS-3865-2L BS-3865-3R Bs-3865-aL g
5_..._].._
.r' I
B 1
N
1)
p10 [ IH ™|
a1
L
|
=
)
)
il TiE
Installation &
i
15 |
3 :SUS301(body)
e S

y o525 4




AIHFEREE |

58

31.5

24.5
44

15.7

O PA+GFEE > BE TR HI SETH
Hinge Polymide GF 30% black,M.S. zinc plated pin

AR Left Side B-260-1
H4£E! Right Side B-260-2
@ 4.30 5
@52 M/i
; [ ] = T
NG
oy
2 8 R o
HEIE ¢
13.8

70

D6

AeEE- T 0 REE - ER R 304 BRI

Aluminum hinges:Stainless steel pin, Anodize finish

A B-250

B-260 B-250




B-206 B-10# | | ATiFReRsE

50
E S’_;:-.IHLE{-.‘ 2
n u 4-08 —2 T
R I 1
) ' P ,
2iE = =
. b 012
L :
[] &
& | .
-® D I
. v L
29
50 B-206-1 & B-206-2
30
AP5 18 1.6
™ Y 1
v @9
P~ g }
™ ™
L/
. A
18
30 B-206-3 & B-206-4
IO A S
Steel or stainless steel
| TEE I TEM NO.
i Steel B-206-1 B-206-2 B-206-3 B-206-4
F45ASUS 304 BS-206-1 BS-206-2 BS-206-3 BS-206-4 ‘
Su 6
32 2
7~ ! ~ ]
: : ol ] D9.5
s ! _I—./ N i /—
g L !

408
I 1
| |
) i
\ / L
S 2 A~ S
Stainless steel or steel
8 Steel | A g SUS 304

B-70# BS-70# ‘




FIifFiReE | I

Y Small size
10.0 M6 M6

*14.0
-\
\——
6
L

s +
-
o ~ o~
— ™~ @
ﬂ ™~ m
2

s — ﬁ_
7.5

=12 135 e
o i |
Eﬁﬁﬁ‘ Three Joints
Two Joints
T S FE
Stainless steel or M.S.zinc plated
e, Version | EZ L Length | F#E#l Stainless Steel | fEErd Steel
W&l Two Joints L=25.6 BS-2207-256-304 B-2207-256-01
=i Three Joints 1=39.2 BS-2207-392-304 B-2207-392-01 4
#Hl i
! Large SIZEM.U M8
M8
o
~
~
* r I
n I
| =] @
| A & = o
4 5 g
| P p—
10.0
>16 18.0
IR =ffi
Two Joints Three Joints
Stainless steel or M.S.zinc plated
B, Version | EE L Length | FiEH Stainless Steel | fEEril Steal
&l Two Joints L=32.5 BS-2207-325-304 B-2207-325-01
=Hf Three Joints L=49 BS-2207-490-304 B-2207-490-01 ‘
L
T Small size g A Large size
| =
olo
1 [ ' e
oo & -
~NlE 3l 1
12.0 L]
21.0 16.0|
<
E A5 i
B T 5 _ i
o o P = ] =]
& 3 L ]
o — ==
% =
TSR FEIK A S A

Stainless steel or M.S.zinc plated
I 3L Version | =EL l A ‘$§ﬁﬂﬂ Stainless Steel I T Steel

l=45 30  BS-2207-4530-304  B-2207-4530-01
=53 38  BS-2207-5338-304  B-2207-5338-01
=50 29  BS-2207-5029-304  B-2207-5029-01
=61 40  BS-2207-6140-304 B-zzor-euo-g‘

/BiSmall size ZEf Three Joinis

KElLarge size =§f Three Jolnis




B-2821 B-2822 B-2823 B-2824 | REV PRALE E IR i

2-QeT it V@S
55 50
135
54 S IDIF AT 1588, T

3D-screw-on hinge zinc die,shaft and grub screw stainless steel
=MEER Surface FTEE Left
FEE 2 Black Textured Powder Coated B-2821 B-2822 ‘

[N ERLEET

6.6
*Im/m
(-

30
409 ;
P E—— \@
+Tm/m
' L RE
B-2821-%/L & @ »
IS ' ol
E 2 2 8
%

B-2822-77/R

11 18 _@_}
N/
— L
®
£ |
5 298 BR @
(:4' :
" ]
* T : _
= _ HETRTT
4-0132 @
4062 [ N \
B-2823-F/L 25
s ilc el A i |
-4 0
™~
w | [l [
62
+Im/m

KERE Surface #8E Right
WE 2 Black Textured Powder Coated B-2823 2624 4

B-2824-H/R

' Hinges %l

B-035




SreEsRE | | | B-216 B-215-2

RL

b
iy 1

13
A FItRE LTS
& no'! - Panel thickness Ts
g A
¢ -
| ™~
3 |
o ]
T o
0 = &
=)
ol
[ 735 H
_:‘ L
g 1.2 =13
16
6
AR RR TN BE
Anti-drop design FFLRE~

Panel cutout

e E, AT ol T SR iR, A A I MR O E S B E R

Zinc die,M.S. zinc plated or SUS pin, Black textured powder coated or bright chrome .

: R = Fi
FItRIEE Panel Thickness & 2 Black Textured Powder Coated Bright Chrome
Ts=1.6mm 4.6 15 B-216-16 B-216-16-30
Ts=2.0mm 5.1 15 B-216-20 B-216-20-30 ‘

42

10 15 i ’r
2?!!
/h li =3 ‘! 5.1
AL  — J
& o
(Tal m
| Lyl =] VEZ T ﬂg =
o H-BHF—2 8 R = 4
| o0
A& ] 2
G i I =
Ay | ™ |
FR L »

RAFLR T

Panel cutout

FroE, TS sl i iR, R E B O R R T E R

Zinc die,M.S. zinc plated or SUS pin, Black textured powder coated or bright chrome .

PS4RIZEE Panel Thickness I i ®EBlack Textured Powder Coated
Ts=2.0mm B-215-2-20
Ts=3.0mm B-215-2-30 y

LR B W Hinges il




BS-2324 B-2124 | | Shekswis

L'\
L‘\%
7T R MBX6
MEE: |
Os/g0 \r I—
C’y & ] — ot
g T -
ol 2 -
H B (1)) =
|| 17.5 2.0
&
@6.0 frd
180° i SUS 316#uds, il filzHE |
180° hinge SUS 316,pin SUS 304
PFI4R/E & Panel Thickness | iR SUS316
Ts=1.50mm BS-2324-15-316
Ts=2.00mm BS-2324-20-316 A
NEW § | 1200
60.0 50.0
@ ©)
(=] C3 _ _ _— (=]
8| € | ®
@
14,U|
M5 TIERIR S
M5 [HEAEE =
uwy
=
& th,
Wi I N E g]
Fon\ -
AR H=4.5 ~
(1 B B | 1
T pity 5
i 7o) 2l
@ B H=15 AL

iR IR AR [ e TRENIE | PARIE

Screw-oc hinge zinc die,pin stainless steel and bushes polyamide

FMEE Surface AZE! Version A BE! Version B
RFE 2 Black Textured Powder Cocted B-2124-01-20 B-2124-02-20 ‘




ShaeixiE |

35.5 -
{
20
T . -
| o
g )
_ p——
3.2
m = % | = ; :
m| o
~—
=t A T
[
LBl J
15.5
232
A c
20
F‘—" /— MEILLEME AL
@10 6.2 i
~ WQ/T
, ST — 5
w I |
(o] =
80° o 4o 3
L E
I - -
& 2
I
15.5 TS=2
(|
- C+ER
C i
i TS
MG EEE A4 Clamping pin
/—
24— F M10

C+Fa

o, BIRST HIER, REROES

Zinc die, Black textured powder coated, M.S. zinc plated or SUS pin.

fi=k=H | Version A(Left) AZI(ZEE) | Version B(Right) BE(H3E)
A+E B-2308-111AE-20 B-2308-112AE-20

C+E B-2308-111CE-20 B-2308-112CE-20

C+F

B-2308-111CF-20 B-2308-112CF-20 ‘




B-2310 BS-2308 B-2326 | | ShEEsREE

25

40.5

UE;:U
|\_;£,

@A

B 25.
_— 2255

AL R~
FHE, RTINS NI ET, RERSEE Panel cutout
Zinc die, Black textured powder coated, M.S. zinc plated or SUS pin.
ZE&F 4 Black Powder Coated | B8 & Blue Green Powder Coated | g2
B-2310-02-10 B-2310-02-60 B-2310-02-70 ‘
20.0
355 i
I 2-06.4 Lo g
I | i R
|
£ I 1 1 2
=)
4
b -
S| < | =
W
= = | M10 ¥ = THIRE
uw o =t
L
z.P N ﬁ
15.5 35
33
180"~ HlyHll SUS 316 X5E A543 SUS 304 H#A
180° hinge sus 316,pin and nut SUS304
| % Left | 4 Right
FEiHd 316 SUS 316 BS-2308-111CF-316 BS-2308-112CF-316 ‘
M6 T 9B F A
@§9 M6 HZLRE
20.0
s | -
35.0 ) = [ A
[l F
L - b R (V)
| ©| o 220 | 9601-M608
| o] S| - o
= s

50.0
25.0

I
%

11
[

1

1

1

‘I

|

1

1

1

1

1

1

|

1

|
u

| ] >33

I |
[
(=]

180" 8 S = Fi5e SRS HITH A FI H R 2R

180° hinge zinc die, black powder coated; m.s. zinc plated; brass washer

FEEHE Surface ] MER Black Textured Powder Coated
&2 ZInc Dle B-2326-500-20 y




GruEEReE 1 B-2309 B-2312 B-2322-01

res FALRT
Panel cutout
]
\
: 2-10.8
AZBEITH =

e A e T [ e i B SRR =
Zinc die, Black textured powder coated, M.S. zinc plated or SUS pin.

B &#4E Black powder coated B-2309-10 ‘

60 40
> 32.5
\%@ i >4
=11 =N
| —
L L T TR
: B 72178 |a N
= )
Ry | = :
N | - ]
I g — 180°
25 6 2_H
50 S — | g 20
228
‘ BFLR =
e, B, AFEOSEE Panel cutout

Zinc die, Black textured powder coated, PA pin.

MaE1S&Black textured powder coated B-2312-20 ‘

1602

| |

T |

! J
als e & .
11| -Q-— o] : -l a
E ) 7 T
=
Q I .] Ee g ] | 63
J Male | eaf remale T eaf

3-MET6 13

s, AR, ADEENEE

Zinc die, SUS pin,black powder coated or E-coated

ERER Black powder coated B-2322-01-10
EmtEst Black grey powder coated B-2322-01-66 ‘




B-2315 | | shaEixse

Version A Ag!

13.5 Il 7L
35
19.5

@_
|

180"

Version B B!

155
17.5

28.5
18.5

,_
&

8

10
@Un
[}
>
Y

Version C C&¢ 30

|

13

22

rﬁaj _on |

i:—.

@@
@~ @J' 1

@809

SO SR SR DT R RS T AT B (R C F R A e R AR
Zinc die ,M.S. zinc plated or SUS pin,Black powder coated or bright chrome.

EEEE =E8 i
Black powder coated Bright Chrome Stain Chrome
AX Version A B-2315-350-10 B-2315-350-30 B-2315-350-40
BE! Version B B-2315-285-10 B-2315-285-30 B-2315-285-40

C2! Version C B-2315-220-10 B-2315-220-30 B-2315-220-40 ‘




graEsRsE | | B2315-285T12 B-213 B-2328-01

44 @1.2'3 . 22-02

303
18.5+0.2

18.510.2

[ iNa
Panel cutout

P =, e84, R A LT R O R RN 2D 8%
Zinc die,SUS pin,Black powder coaled or satin chrome.

z Y N
REVERSC FORWARFD m n
w0
s
o
5]

Higinme HR HES
N,m, Symmetric N.m Black Smooth Powder Coated Stain Chrome
1.2 B-2315-285T12-10 B-2315-285T12-40
26
—8 o |aM4zs

S
7

I #1 or—

fx)
A\
]
D
b
|

T, ESFR S AR AT, TEUTHEAREATERR

Zinc die, M.S. zinc plated or SUS pin, Black powder coated or bright chrome
SR525 Black Powder Coated | B28% Bright Chrome

B-213 B-213-C

70

8 8 S =~ =

15 Gl m

A

a5 12.5 Toothed saddle washer
5.4
49.8 f
\ f <§b\;‘\
' '_E@(I
- v
E—— -
I by - M6EX10 1245
M6X10 Screw £
‘ A
12.1 )
T | T | ~
25 i 2- 9.80
69 217
GRS e Bl TRl A REIDA - l
Zinc die door leaf, steel frame leaf, SUS pin 2
RAL9016 | m & 4% Black Powder Coated
B-2328-01-25 B-2328-01-10 y




BS-046 BS-14738 BS-5436 | | IRpEIERE

22,6
14

30
20
'
i
0.8

6.8 72

AEEitsus
Stainless steel

—& = o],
3 2 : L1 I@ |
o= @
* [ ~ o
o
8.25 . 37.50
A tz43M0304, IROHTIT FE

Stainless steel 304, Vibration Grind

y o506 4

147
6-@4.2 60 60
o 1.2
% rS &
24.7 @2.2

ol e | T I S I

Pan)

¢ 4 <

TiFHE304

Stainless steel 304

B-043

Hinges i



R 44 E e SRS | BS-236 BS-202

40.4
26.5

E
il

E—
¢
i

TRiE 304 IRENRRE

Stainless steel 304, Vibration Grind

y == 4

0.2
17.6
7 = 4-$3.4
A : 9/
X/ _é
A i . -
L I
& P
p—
P58 :
%3@,“'—,%
1 N> ]

Faiflzoa - REH EE
Stainless steel 304, Vibration Grind

|4 — 2 4

LR R Hinges il B-044




| AERE

12
- 2-97
LL..;:]
] uwy
o™
2 3 3 @ O =
] u’
- o™
=1
]
11 3-Mé
19.5
23 25
uy)
- {—] o
Q // () ! N " I] e
[}
\
123 Mé U
25 39.5
33
151
- oS
i SUHEE
Ml
5.7
@7.1 D14 D12 @7
w
o
{®)- @n::
B;'ﬁ ALY
Version B Version A

5 2, B S ERERIGRE b, 2RI T AR S AR A i

Zinc die, Steel or SUS Fixed sheet, Black powder coated or satin chrome
ElEFiEE Weld-on part version | REIZ Black TexturedPowder Coated I #DEE Satin Chrome
AZ! Verslon A il B-201 B-201-G
BE! Version B i B-201-3 B-201-3G
AR Version A T BS-201 BS-201-G




ekt | | B-211 B-205

60 10.6

16
HE— |
— T

2 | 6.6 RHLRY

O 1T ] T 2.3 2055
- o
. 105.6 ) l] . @ . . . \
~
|| || -
13
70 -
| |
u [ <
i ) r
L] ® ]
2.M5 8
S0k 5150304
Steel or stainless steel 304
Fe#i# SUS 304 | S8 Steel
BS-211 B-211-1 y
Pea
|| 8
™
r
. =
ik = =
=
o o
== &
TEE2m/m TEE3m/m =
i ; )
o = \ t
Bé2 P82 | ! =
@L 2 E:2mm
10 10
BT E1E0304

Steel or stainless steel 304
ZigsH SUS 304 |
BS-205

8|S
Y e

TAIMLESS
SERIES




B-2406 B-2407 | | Postinse

AL A
" - =
>2.5
148 | ——
= Yr
wy
g LI 1 lgle | . I ” 7.4
~
s \ 1
T
12.2
20
% 120"j
LS haat] possFntic)
Screw on version Weld on version
M.S. zinc plated or Stainless steel
| 8%l SUS304 | 5957 Steel
1R44FEEL Screw on verslon BS-2406-011-304 B-2406-011-01
I1245EEE Weld on version BS-2406-012-304 B-2406-012-01 ‘
BS-2406-011
&,

I |
s ==
(LI (
Y Y
i 1
| g |
o 8 T-1TT198 11118 %8| &
| |
l -
F g
N (17 2,
@5 gs ~3Is
115 n
T3] w
Tl |
3 U o)
g Gald
H Ry ~
o s B o
11.3 " 20.5
203
T S T #
M.S. zinc plated or Stainless steel
| T4 SUS304 | ¥ Steel
(R~ 20.3)(Dim 20.3) BS-2407-011-304 B-2407-011-01
(R 21.5)(Dim 21.5) BS-2407-012-304 B-2407-012-01 ‘

Hinges 1%l



AERIREE | I

6.5 204 6.3 26.5

>
] 49%

o
g o -t—-te 8 83T T38| =
%_ | j _L
4 145 $ Q-{b 14.5 $
: 5
¢6¢9 @5 ¢<o Bs
1 ! .
385
26 f 325
0.5 5 b 3 »
o I | J
! 2
120° S o © 120° w| || ~
- -~ =t
A & =
325 /
i e i A S ]
M.S. zinc plated or Stainless steel
| A SUS304 | $EET9M Steel
(R~ 20)(Dim 20) BS-2407-021-304 B-2407-021-01
(R 24.5)(Dim 24.5) BS-2407-022-304 B-2407-022-01 ‘
= 2]
2 ) © %
A % 7
1 v
24 0 =l
>ﬁ A =2
€8 =4
T2 el
A 1 1 i
SRR !ﬁs HEEE T "_i'*g
dh B | 'F\ T T
| & L
7 r:\\ 1 7 { ) $
N i @5
3 _ﬁﬁ & 3 265 |
40 )
3 204 o
Cﬁo q{g) 14.5
,
385
32555 ) 32.5 =
T T *Tl - ]
5y I I
ol { | ~ 35" &
T a7 o~ ™ |
L T LS l\u. j
21 21
32.5 32‘5
fih s i) A ek
M.S. zinc plated or Stainless steel
| Fellifl SUS304 | M Steel
(R~T 20)(Dim 20) BS-2407-031-304 B-2407-031-01

(R~ 24.5)(DIm 24.5) BS-2407-032-304 B-2407-032-01 ‘




I | AERE

23
o
R =
9.1
+1
af mz
1% t=]
[Ty}
TS | R | SO I =
‘= | e )
) i E N < 12 | 10
— 21 1 {211 AL ! —
N\ S— )
(D A, .
275 120°
Y-
~
_/ 1]
572 S R
28
1
st 3 = % |
M.S. zinc plated or Stainless steel
iRl SUS304 | $EEE Steel
BS-2408-01-304 B-2408-01-01 ‘
N i
VE
( —F
S [
A L
20 33
25 e 23
10 12 M
7 T —] 4
2.5 £ =
\%zs 3
m 20° o
-G 1-——1-— L=y -
Y
I A
40
Ni 8 6 3
65
87.8
Gt v %
M.S. zinc plated or Stainless steel
F el SUS304 | s2erel Steel

BS-2408-02-304 B-2408-02-01 A




AERIREE |

| B-2408 B-2421

90 M6 FTLIERR AR
51.6 Countersunk screw M6
45 50.6 4.5 55 /
// s l s ’1—_ o an “Ql
— | 2-@65 - sl o
(=1
Uil e 9 Hls
. (o] I S
| — m— m—
PR 263 M6 FIFRIE & =
Shaft clamping ring Locknut 235 115
o
Q
& @
N
) 4
HEFZIM I 00304~ SR SETH IS B | 1EE - 41
M.S. zinc plated or SUS304~Shaft clamping ring:POM,Red
A i#E SUS304 HE#%EHH Steel
BS-2408-03-304 B-2408-03-01 A

IZO

m
14.5 ; o
<=2 | 3254 e 14
| | § I )
=@ | = o ;)
| i | M5
I
| - : g {151
. | . --oF
] o I'
| 1 | g = T3]
| @71 i O 8 S-fFr1—-<
| = jEﬁ#ﬁﬁ = — k&l
0 L~ Pin ™
|
I _! @t
| 5 :
: = 8.5
Y
| fE
| Frame Part
| ®j i L
| BRI
! =] Version B
| uny
|

A
Version A

s
Installation Instruction

PIIE
Door frame
= 2 =16

£ 9.5
h
T e
o =
0.5[E0E: s i
Panel Door

F=, Version

ER#R% PART.NO. | MESRREEE Material & Finish

B-2421-011-01 #E1%4) M.S.zInc plated
BS-2421-011-304 Fimtdd= 5 SUS304,Natural
B-2421-012-01 #1635 M.S.zinc plated
BS-2421-012-304 T4 & SUS304,Natural

AR
Verslon A

BEY

Version B ‘

TAINLESS)
SERIES

AR B&Y
\ersion A Version B




B-2410 B-2411 B-2412 | | PosEsxiE

Bz (S
g
"

126
100.4
e
2 "‘o‘? § 5
! RN
—T T — =
S el i el o
el e I 2 _C\/ =1 | 2
¢(°S" ~ {l_\ i O h 3 ([
¥ = 48 34 15
116
H=17\20
120°
T8 S 7 3 T~ FE
M.S. zinc plated or Stainless steel
R Height | T4l SUS304 | #3750 Steel
H=20 BS-2410-20-304 B-2410-20-01
H=17 BS-2410-17-304 B-2410-17-01 ‘
250
150
m @31 100
E/}' >45
D= kD |
[ N[ -
B o 1 I _AN
s 1 o =
5 S —" = AlLl51g
| [ =
16.5 i
8.0 s
s
180 [
R R e : % IRETRAA T
v Eé’mﬁﬁﬁﬁ$ﬁ1kmﬁﬁ$£’$ﬁuﬁﬂg Weldon or screw on

Zinc die, black powder coated,m.s. zinc plated or SUS pin.

y w4

TAINLES!
|SERIES
AT~
=
] .
AN | ]|
] ||
i NEEREY
: n L o Wl
HIE o ] ©
o I 7
__9_8__ @10 g12 @16
TE ST HE 5 e 13
M.S. zinc plated or Stainless steel

=E L=60

A HHEE SUS304 BS-2412-40-304 BS-2412-50-304 BS-2412-60-304 BS-2412-80-304
#E5¥40 Steel B-2412-40-01 B-2412-50-01 B-2412-60-01 B-2412-80-01 ‘




ShERIREE |

53.6

92

| B-1470 B-1132

o S R, N )
s = NS &/
\ :kJ
7 i
Tl 45 | 265 3 5 @7
i 35| N\ 5910
e e
| |
B
S
-
A
Zinc die, Bright chrome plated
v 4
40 40 12.5
3063
27
NN
n . H LD 7 -
£ b
- L7 [7 - 1m |
ok 7 _-‘L‘-\h" : I
21 |7 5 61
(1 / 4] '
' ' 0 7.3
™
F 22 22 30.5 10 | 5
| \—/ 3
104
162
e fEES
Zinc die, Bright chrome plated
B-1132

RL{ES




B-1332 B-1336 | | haEsxis

127
[ i |
4
42 21.5
._ZJ_.‘ 3-9x5.5 Long hole 18
iy | L7 N
™
(45]
™ —
a9
44
SETYE HERE
Zinc die, Bright chrome plated
y 4
21
= 3.95.5 Long hol 18
21 -JX>.0 Long hole
74 I | A N
IR b 6 o |
3 wy
3 T T T
o} ) [ '
G | |
21
42
[
1 |
|
127
e iR

Zinc die, Bright chrome plated




shaEsRsE | | B-NM2 B-2131

10
ﬂ\ f,’é? X 50 . 35 138 @
ST —————
&)
140
<

28

v 8712 4

21.5

825

102.8
50 58.3 8
-$-
P X/a——'———ﬁ' By P
EA
7 -
6052 &
RFLRT
Panel Cutout
FEER Finish | UK Item NO.
= £ 74 Black Powder Coated B-2137-830-10
=244 Bright Chrome B-2137-830-30

T§hEH 304 SUS304 BS-2137-830-304 y




B-45 B-60 B-70 B-95 B-257 | | Ak

L
< | ]
LI
i 1
(8
TFoD iR
Zinc die, Bright chrome plated
i R AR c
Product NO.
B-45 45 37 5 13 31 215 @4.3 18
B-60 60 36 6 13 47.8 21.7 @4.3 315
B-70 70 47.5 7 16 51.5 26.5 @4.3 34
B-95 95 54.5 9 19 77.6 33 @5 52 ‘
unit:m/m
" i i
'CL.; ] Z Z Jt
| M5
32
35.2 11
10

10

n
2l
£

7.1 9.
16.4 15.5
ZiERT P IAEL0 R

EIVHE BRI
M.S. zinc plated, PA fixation-set

y 4




PosEessE | | | B-2414

@13
@5
. |
Foqs T s
n I
\r\
BRFLRST

- - - iy S Panel Cutout

205

BEOPASETE - 77 S EH
Black PA hinge, zinc die pin shaft

B-2414-01-90 ‘




<

®




NREBEARAT
LEEKA INDUSTRIAL CO.,LTD.

407 AR PEEET RES +AB21-1%
No.21-1, 38TH RD., TAICHUNG INDUSTRIAL PARK;
TAICHUNG 407, TAIWAN, R.O.C.

TEL : +886-4-2359.:8798
FAX:: +886:4-2357 B762
VAT number: 245791 63"
E-mail:info@leeka.com.tw

wwwileela. cortitw q

_ 'WELCOME TO VISIT OUR WEBSITE




